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	Physics 105 

Lab Final
	Name: _____________________________

11/30/2012


Show all your work, I cannot give partial credit without it. Work may include formulas and graphs saved in Excel. Make sure to include the proper units in all of your answers and on the axes of your plots1. Print the Word document and email the edited Excel spreadsheet(s) at the end. 
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1. A bar of soap has a length of 11.2, a width of 7.2 and height of 3.1 cm and a mass of 212 g.  When placed in water the submerged height appeared to be 2.7 cm.  

	Calculate the density of the soap.



	Calculate the Buoyant force and compare it to the weight.



2. The data on the Collision Sheet of the spreadsheet p105_f12_ final_B.xls is the velocity from a motion sensor tracking Cart 1 (a 489.7-g cart and a 499.1-g blocks) as it heads down a track and collides with Cart 2 (a 500.9-g cart and two blocks with masses: 500.2-g and 497.6g), which initially had no velocity.  After the collision, the two carts stuck together.  

A. Make a graph of the data, title it “Your name: Collision” and paste it below. 

Paste graph here.
B. Determine the momentum of the two-cart system just prior to the collision. Determine the momentum of the two-cart system just after the collision.
	System momentum before:

System momentum after:




C. Determine the energy of the two-cart system just prior to the collision. Determine the energy of the two-cart system just after the collision. Was energy conserved?
	System energy before:

System energy after:

Energy conserved?




D. Determine the acceleration of Cart 1 during the collision. Then determine the force acting on Cart 1 during the collision. 

	Acceleration of Cart 1:

Force on Cart 1:




3. The table below has data taken using a motion sensor (also in the Excel Spreadsheet).  Masses were placed on a hanger, which hung from a spring positioned over a motion sensor.  

	Mass, includes hanger (g)
	Position of bottom of hanger (m)
	Spring Potential Energy 

(  )

	50
	0.814
	

	100
	0.783
	

	150
	0.758
	

	200
	0.728
	

	250
	0.704
	

	300
	0.676
	

	350
	0.647
	


Use a graph to determine the spring’s force constant and equilibrium position and enter them in the table below.  Also calculate the Spring Potential Energy and complete the table above.  Show work and/or explain.  Include your name in the title of the graph and print it out.

Paste graph here.
	Spring constant (              )
	Equilibrium position (               )

	
	


	Work/Explanation:




[image: image2.png]



4. In the setup above the mass of the half-meter stick is 99.15g; the mass of the brackets is 20.10g each; the mass of the hangers is 50.0g each; and the additional mass on the hanger on the left is 50.0g.   The left-most bracket is at 1.9 cm (measured from the left end of the stick); the next bracket is at 5.9 cm; and the center bracket is at 10.8 cm. (As expected the stick by itself balanced at 25.0cm – the center of the stick.)  

	Calculate the clockwise torque(s).



	Calculate the counter-clockwise torque(s).
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5. The setup above was like that of the Archimedes lab except that the flask was full of Glycerol instead of water and a piece of Copper was lowered into the flask. Acetone has a density of 1.261 g/ml, and Copper has a density 8.96g/ml.    The following data was taken 

	Volume displaced (ml)
	Tension

(N)

	0
	3.06

	8.4
	2.955

	16.8
	2.855

	25.1
	2.749

	33.4
	2.648


The last volume Make a plot of Tension vs. Volume Displaced; fit it to a straight line. 

Paste graph here.
Determine the slope and compare it to the theoretical slope.

	Slope from graph (  )
	Theoretical slope (  )
	Percent Error

	
	
	


Use (some of) the data above to calculate the density of Copper. Compare it to the accepted value. 

	Calculate density of Copper:




	Calculated density of Copper (  )
	Accepted density of Copper (  )
	Percent Error

	
	
	


6. An Atwood Machine was set up with two sinkers with masses 10.8 g and 5.2 g.  The Smart Pulley recorded the Position vs. Time and Velocity vs. Time data found in the Excel spreadsheet.  The initial height of the heavy sinker was 1.61 m above the floor. 

Calculate the ideal acceleration.  Make a graph and extract the experimental acceleration.  And calculate the frictional force. 

	aideal (  )
	aexp (  )
	Ffric  ( )

	
	
	


Paste graph here.

Work for aideal and Ffric:

	


Fill in the missing columns in the spreadsheet and then make a graph of the Mechanical Energy vs. Time as well as the Mechanical Energy Plus Work Against friction.  (Can be one graph or two.)

Paste graph(s) here.
Compare the two graphs and relate them to the relevant physical principles. 
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